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s = Zolke AXE A (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
Teg 1,703,840 1,643,840 60,000
=2y Eo &2 1,011,277 951,277 60,000
=011+ Sicte RXIHE &S 677,544 647,544 30,000
Molithel & S=5+ 130,000 100,000 30,000
401 AlEHIYL S THYI 130,000 100,000 30,000
01 Al&HI 130,000 100,000 30,000
OEHZSUlol S THHCHHI ZHIAY
3& 130,000,000 130,000 100,000 30,000
KIALE] HE ALY 130,000 100,000 30,000
=0l =3AI 130,000 100,000 30,000
401 AIEHIYL 20| 130,000 100,000 30,000
01 AlZHI 130,000 100,000 30,000
Odes FUdE XA
& 130,000,000& 130,000 100,000 30,000




